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S 2% IR A BEOE RE A . e N T BRI SRR A1 36 AR T2 B T L B A PR AR B R
P24 VIR BE S o] AR TRDER % 2 . AR FEARE A B R IT IR R IR 5 T R
I B R REAEL I A ZR RO 0 A N T R U R TLAS R DL A L P 52401, O Jis 5 B T Y o ST 4T
LA

O L1 BB B

RO PRI [R5 78 T SRR o 9 20 AR —— TR BR 0 S8 5 X — B S Bt A7 2o £ 21
“PLEACH . S 7R P X — A% JEARL AT R 4 R A TR SR ) IE X R
e AR5 TG AR A SR TER by e U ] — B S e O R B R A RO VE . e DA AR )
TR A 45 0 LA B B A R A0 PP 3 R M 5 | S 3 2 ) RO

1.1.1 RO . EZ@EFmAHEMTE

x IE 5% % S @ AR
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SIRTCTT 20y B de BT . AAS R o BOR A, 2745 5K sine #9281k, AR
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{H % 5T 1Y sine OICRR 2,
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e o B EMBERER Ac = Ar=a 0 — 2, =01 N = 1D A5 BT BUE sin, -
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(K% 1-1)

import numpy as np
import matplotlib. pyplot as plt
import matplotlib as mpl
if name =="_main " :
mpl. rcParams[ 'font. sans — serif'] = 'SimHei'
N = 200 £ N 43 BIHL 20.100,200.,500 47 4 1335 47
begin point = 0
end_point = np.pi
Delta x = (end point — begin point)/N
X = np. linspace(begin point, end point — Delta x, N)
Y

Area = np.sum(Y) * Delta_x

np. sin(X)

print(Area)

plt. figure()

plt.plot(X,Y,'r-")

plt.bar(X,Y,width = Delta x)

plt.xlim([X. min() = 0.1,X. max() +0.1])
plt.ylim([Y.min() —0.1,Y.max() +0.1])

plt. title(r'N=%d, MfF! $ \approx$% .5f'% (N, Area))
plt. show()

BEAAE 1-1 5. AR - Emes R, mE 1-1 iR, 24 N={20,100,200,500}
B A5 B NBUS S 5 L AR SE 4 5k 1. 99589 .1, 99984 .1, 99996 A1 1. 99999, i N 1
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S5 Ar ELE 2
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AS 2nr A Ar?
lim 2540 Zrrlr fxdr (1-3)
a0 Ar Ar

HXA-DESKFr W—MEH., L r=r i, H—-NFHEN

A 2nr; Ar + At
T DA e e (1-4)
a0 Ar =, Ar
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2 2
K5 PRI Tim ) A :hmn(B) —lim B 0 BB
oo £ w7

n—>co N



R

n R
S(R) zlimEAS(r,) :J dS () :J 2nrdr =nr’ |f==R’ (1-6)
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f(x):f(xo)—|—(I*xo)f’(xo)ﬁ—g(x*xo)Zf (xo)—Q—"'—Q—;(I*IO)"]‘(") (xy)

(1-7
LA-DF 2, Bz BT, 2 Ar=x—x,. W f(2)—f(x,)EFT Az BIRE R

1 r 1
f()—f(x)=Azxf"(x,) +§A.l‘zf,/(l"o)+"'+;AI”]K<”) (x) (1-8)

ANEREL fCOILBAT T WAE [ Ax [ 2K, R A-8 AL, BB H TS
Be) SCHR[3 ], HAE R 2 B MO H A B0 58 R 0y o Al el s B F A 0 B e &0 A 1Y
PRI UE B 2 ) R I 20— 170 R B0 AT

2 (1-8) AT, — B S O PR R Ve AR A (L ZO #4250+, &l 1-3 fis . —
WKL f(x) =ax’ +bxr+c BIMEZER.SHL y(@)=f () +(x—x,) [ (x,), B
S GOTER x LTI,

Jf(x)=ax*+bx+c

Sfx) 0 YT )T (xS ()
) —
¥(x,) , Z
);0 );:1
& 1-3 YR PR f(x)=ax" +bx+c T~ A
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PREIE Y 221 f () — f (o )BT PR3 o BI— B 358 43 F — B 43
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1 .
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2 f(x)—f(x)=CQax,+0)Ax+arz®, WHE >, AW >, FEALBGEE, | Ax | 2/
WK HA Qax,+0) Ax BB | Ax | BEMERR T adx® WL | Az | 52 ZRAEL M
KR ZEEXA-DH AL —BMHELTE R, HlAx =00, B 130 f(x)—f(x)—~>
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KA1 R, WA o FEFBRXE N n S0 21y oo, P Ae=2, —2,, (i=
1.2, )y B Ar=x,—2, >0, flx)—flx)DH Ax BELM LR . PIEWILEE—NS
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et
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HI 1.1 55 A] R e Y — B S O RN R LAAS B 5t Rk B, AR e R b AR R O AR
S B $RA 2R A b — kA Bl AR R R A A A R A Y FE A L A T — B
BOM B SR X P ik FRAE A BR 22 2305 . 53 Ah AR R 4 A R 22 20k 0 P A T
{91 TE 52 bR KI5 B0 A7 R 22 23 A T AN AR 0 2% R DD B2 1L

1.2.1 BRESSE

1. 15 BT T RO R 0 SR — TR R A — B S 2L A L AR, R
UL LA A 2 € [a b VR N 55035 N oot ) A =" 20, IR £ (o) R
F ol —B S8R Fo 2B B G, A1) ¥, B

Fb) —Fa) =| fds :gvijgﬁ)ﬂx,.)m @<z <b) (1D

SO U — B A T L AR BRR I BRELE . 1L 1.1 /N IE 5% R BB 43 1Y
TR, Ax 8N BRI Y 26 30 BORS

3 BN BRALIE R K AT LLEAT A R B 48— 4% o UL — [ € B M8 o, FEAE S 3h 2
oy =x,HAx . WIEREZEE F (o) —F () 582 A BHAICR EMM T — 5
BOf ) P TERRIER R ZE 53 . AR 2252 0] AR AT LR FH A B 22 43 12 A0 Bx vk B
L2 TR0 AT DA 3R R B LS AR AR DL

WA RESEA S EEE S it AEEZE S i, LA B S 800 il
EZ ot a0

flx ) —f(x)

flao= ~ (1-12)
( ',')_ ( S )
IRy A AT (1-13)
Ax
(x; —2f(x; (x,_
f,,(I[)%f(x,ﬂ) flx )+ F(x,-) (1-14)
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Bl Ax—=0,— B A B 22 43 3k 8 2 W SRR N S 400 A R e B3GR R [ L SR i 5
Az 22T IRE B S T — B, LRI 3 N Dy 8 2 12 D 2 ) R O 5
K, B MR IR HEAT IR 22 0T

T =W ML AT S8R £ (o) 22 3R T 44 58 R B S %5, BD

[z =f(x)+rxf'(x;) +%A1‘Zf”(1t,) +O( 2 Ath) (1-15)

J=3.4.50

B -15 28 R (1-12) , — BB ) 2 0k i i iR 22

) e , ,
f(x i) f(xl)—f’(I):lefﬁ(I,-)‘FO( 2 AIJ)ZO( A.r])
Ax 2 =230 j=1,2,3-
(1-16)
TG 22 AT IR 25 4 R /D
f(x,»ﬂ)*f(x,-)_f’(x,-) 1 ., ( ,)
Ax’®  Ax +2f >+O]1)5Al v
f(x,-,l)*f(x,-)_if/(x,-) 1 ., ( N j)
v ==ty crn-+()j:;;w( D’ Ax )
EEOP.f ()~ f(x, D=0z BTk f(x, ) — flx,)=—Ax
F OO AH I, % B (1-14) A 45
() —2F(x. (o
ASLEY) f(f;)*_f(rl1)——f”<1,>=:2o( D AIJ) (1-17)
Ax” J=2.4.6m

HF 8 (1-16) FIEC (1-17) s ANHE R B By fho0 Z 00l T A IR 22U Ax BB EOR B )
B30 22 A1, 00— B B 0] 22 A i F IR Z R LT Ax MITA BT IRZ M, eI &Rl EES, 2T
KA1 W —Br 5 1 220G R 2 E RS R RN E AT IES .

1.2.2 =O. EZXEHSBHIFRESMEIT

SCHRES PREAESX R L f () = sinz FARI KA 72— D = € [0, 2n JN ISR AE N =
150 A> 5o 43 590 2R JHHIT 18] 2 43 ki 1132 A Z B bl 22 0 Al T E ik sl ad Cr + 53548 — s 284
(compute unified device architecture, CUDA) #1145 & 1 347 4 #2 O XA B — B R4 £/ (2) =
cosx M B34 f"(x)=—sinx.

A A REBLAEATH  JCN = 20,50 1 100 (B9 A= ) HH513% = I L 004
ﬁ%ﬁ,%u SR EY Axr ZEIX R, iR A 1% 2 (mean square error, MSE) , BJI
MSE = — Ekyng, Lrf oy, R DSBS, S, BAGTHE.

ﬁﬁ%xﬂ,ﬁnT:
(K55 1-2)

import numpy as np



import matplotlib. pyplot as plt
import matplotlib as mpl
npl. rcParams['font. sans — serif'] = 'SimHei'
plt. rcParans['axes. unicode minus'] = False
config= {

" font. family" :'serif’,

" font. size" :10,

" mathtext. fontset" :'stix’,

" font. serif" :['SimSun'],
}

mpl. rcParams. update(config)

if name == " "
N=100
Delta = 2 * np.pi/N

Result = np.zeros((6,N),dtype = float)

' main

for i in range(N) :

Result[0,1] = np.sin(Delta * i) = JE PR AL
Result[1,1i] = np.cos(Delta * i) £ HS— M 345

Result[2,1] = (np. sin(Delta * (i+ 1)) — np.sin(Delta * 1i))/Delta
= — Wi S B [ 22 Al i
Result[3,1i] = (np. sin(Delta * i) — np.sin(Delta * (i—1)))/ Delta
£ — - S8 )G 19 22 4 Ak

Result[4,i] = — np. sin(Delta * 1) = HIL S5
Result[5,1] = (np. sin(Delta * (i+1)) — 2 % np.sin(Delta * 1) + np.sin(Delta *
(i=1)))/(Delta* * 2) # B By L 22 Al it

D1 = Result[1] — Result[2]

MSE 1 = np.mean(D1 * % 2)
print(r'— i m 2/ KR ZE R : % . 105
D2 = Result[1] — Result[3]

MSE 2 = np.mean(D2 * % 2)
print(r'—Br G M 2Z 0 iR2E 2 % .10f' $ MSE 2)
D3 = Result[4] — Result[5]

MSE 3 = np.mean(D3 * % 2)
print(r' O ESIRE R . 10f' $ MSE_3)
fig = plt.figure(figsize= (6,4))

o°

MSE 1)

plt. plot(np. linspace(0,2 * np.pi,N),Result
plt.plot
plt.plot

. linspace * np.pi, N

(0,2

. linspace(0,2 * np.pi,N
(0,2
(0,2

plt.plot

plt. plot(np. linspace(0,2 * np.pi,N),Result[5], m-d")

plt.legend([r'$ £(x) $', 'S cos(x) $', rDiff 1', r'Diff 2',r'$S — sin(x) $ ', r'Diff 3'], loc =
0,bbox_to anchor = (1.05,1), borderaxespad = 0, fontsize = 12)

plt.x1im([0,2 * np.pi])

plt.ylim([ —1,11])

plt.xlabel(r'$ x$ ', fontsize = 12)

fig. subplots adjust(right =0.75)

plt. show()

(np
(np

plt. plot(np. linspace
(np

. linspace

)
)
)
* np.pi,N),Result
* np.pi,N)
)



MRS ER 9 )

M N = 20.,50,100 B ACAS 1-2 1938 17 808 20 Bl an i 1-5~ & 1-7 frs, Hod Diff 1,
Diff_2 Fl Diff_3 435l 37" N A5 0 — B R ) 22 504k F . — B J5 ) 22 2048 o T = B b 22 0
it 45 3%

1.00
— f®
cosx
——— Diff 1
Diff 2
—<4— sinx
Diff 3

0.75

0.50

0.25

0.00 ¢

-0.25 ~

—-0.50

—-0.75 A

-1.00

& 15 IE 52 bR A R 22 20 i 3 (N =20)

. — B A R 2240 B9 iR 2 0. 0122695270
— B 1 2243 iR 22 2 0. 0122695270
B 2243 iR 22 2% 0..0000336008

1.00 T

0.75 R
0.50

0.25

0.00 1

-025 4 ¢
—0.50 {

-0.75 A

-1.00

Bl 1-6  IE5% RN A R 22 0l i (N =50)

B ET ) 25 4 B9 iR 25 02 0.0019721898
— B I T 22 43 1R R 22 J2& 0. 0019721898
B 2243 iR 22 0% 0..0000008649



0.75 - ‘ y 4

0.50 - % y §

0.25 \ 4 4 %

0.00 {4,

025 4
-0.50 4 X 4

-0.75 4

~1.00 — e

A 1-7

E 7% PR A AT BR 22 20 A 11 (N

100)

HE— BT 25 4 B 1R 25 42 0. 0004933720
— B S ) 25 4 B R 25 92 0. 0004933720
Z B 20 B R 25 92 0..0000000541

WML 15~ 1-7, B8 N AR, Ax FEW/) 31X =Fh 22 70 T 7 75 249 23 BOR 0K ) .
XF T — B E AR A 1) 22 0 AT EA R L ER X N DAY IR E S e, 5
S R 5 B H s 22 23 T RS E B R T — B B AR I L L 0X 5 1. 2. 1 /NI R 22 20
iR —E

1.2.3 =0 EKRiA%(%E)RK

FEN TR R SR, S 50000 3 AU 110k 32 1 R AR G A 38 b, e BB g 1 2 R g
JE BRI, MFRAE D A I . X B, 1 e B T MRS AL R i R . B 1-8(a) S
FEAT P IR T UL A BT RO BT 2 B R BE R PRy 16 X 16, B It 256 MR AL 1EIHA
LA X ik R — A~ 16X 16 B9 - Z4E5E R, Wi 1&l 1-8(b) fIr 7w o

WE L, BEGQESETENTE O RR, HEBRELH 255 B, M TRAZENGE
SORI IR AR FR A 0~255 MR ERR , BRI 1 8 1 IR K AR R BB 255, ) 2 i
0, TEEMGAL B F & 1-8 (b) FT 7 1 4 5 4 B i — A 1T AL b &R L 7K SF R B ) 4%
S B« FRT y Bl RS R ER SRR B — A A AR B (s ) AR R AR X A AR AR E
MY RREUE F (2o y) . BIA0. 55 14755 5 SRR SR 2 76,80 F(1,5) =76, 1% (AR JE) 4 L
2B EMR G T8 OB DR B B R TFE o R y By 1) 1 AR 40 P AR R A AR AL R BE
OHSTIELE T 1. 2. 1 /NYTAG PR 25 43 i JEVARL, BIAR 9 ok 8501 19 28 Ak 3 LA 11 2 B R/ .
L 390 5 CRe B0 B2 IS B 1 gt 2 ot Dy B A RS $8 TR FAE R A2 28748 (B 3 O i b

TEBUA 1) S 00 A I 2 B i vh L 558 LY J2: Sobel &2 | Laplacian £l \ Prewitt



